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R M N=
= 2 gt = &= =& SN 2 = = Y= =& SN
15 o122 olga FELEN®S | 40,150,000 40,150,000 o|marzabl | A&l NPEE 140,500,000 | 123,000,000 | 417,500,000
6 |&ay & agl =202 200,000 200,000 o|marEau | A&l e 3,850,000 21,550,050| 17,700,050
17 |&ay T4l Jgaso 300,000 300,000 o|marzaH | A&l AEEHE 1 505,000 5,675,640 416,640
18 | &4 T4 J|EFE 4 300,000 1,400,000  1,100,000| Attt Abei bl oich= el A 800,000 4,000,000 480,000
19 0 0 0| Atestl AbgiHl ABl= =211 870,915,000 870,415,000 4500000
20 0 0 0| Atest Abei bl H=ERPI 17,100,000 17,600,000 500,000
21 0 0 O|BEHENE |DUENE |BEEXE 0 0 0
2 0 0 JEES Sy N E N 0 0 0
23 0 0 0|atez =N P NEE! 0 0 0
24 0 0 NENE N BN E 300,000{ 400,000 100,000
25 0 0 o| JuiHl = 1) WBIEE = 1 gy 500,000/ 500,000 0
2 0 0 o| Zulul = JHABIEE = I waig 33,153,000 34,053,000 900,000
ez g2e| 1463 T2 1,100,050 NELES ha62.0%2) 1463, 1280 4,100,050
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